FILL OSL  TUw= L ~73R17?

20212 U —ZRA > bR

@bkésn

sportsLand

E¥Fr—o35X ZRILAOS X
Pos| I>M5> b4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total Pos| I>M5> b4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total
1 |kei 20 20 20 60 1 |eos(omsTo) 15 15 20 12 62
2 |k = 12 15 15 8 50 2 | LH = 8 12 20 15 55
3 | EEREKAN 15 10 6 10 15 50 3 |35 20 12 12 44
4 |lCL 8 8 20 10 46 4 [/\#8 IEX 12 15 8 35
5 |PAdER 20 20 5 |/ EE 20 10 30
6 |iEEE(O> k) 8 10 18 6 |orangeDONJOQY 6 10 8 6 30
7 |72 15 15 7 |k 8 15 23
8 |EUHDHE 12 12 8 |BEHE=E 20 20
9 |MIR #F 12 12 9 |s>hrIUvSTRA 10 6 16
10 |NK 12 12 10 |YN 6 8 14
11 |J> 12 12 11 |8k 3k 10 10
12 (AHDIr 10 10 12 |RERIEE 10 10
13 |> 8 8 13 |[7EK M 6 6
14 |ko5 6 6 IRIL BOSX
15 |[BZEEF 6 6 Pos| I>M5> b4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total
16 [R>aw 6 6 1 |PFENSE 12 20 15 20 15 70
17 |[LGIUK 6 6 2 |ER1CHE 20 15 12 8 55
FL>ZH~CARTSR 3 |=® BN 12 8 12 20 52
Pos| I>MS5> b4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total 4 |Hll B 15 20 10 45
1 [hABBA 20 15 15 12 15 65 5 /N8 Fia 8 10 12 30
2 |5 12 10 20 20 62 6 |RD 8 10 18
3 [FreEA 6 20 15 12 53 7 |&£EBES 6 10 16
4 [LWEDSSA 10 8 12 10 10 42 8 |MkH =B 15 15
5 [2&A 15 20 6 41 9 |cFED 6 8 14
6 |[&BFA 10 8 18 10 |Z—*F° 10 10
7 |8EH 12 12 11 (P&t BR 6 6
8 |UzD 6 8 6 12 |HEX B— 6 6
FrL>2ZOS5X 13 |2 6
Pos| I>M5> b4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total IF+)(—=k
1 |DESA 20 20 20 20 20 80 Pos| I>M5> b4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total
2 |&EDW 15 8 15 12 12 54 1 |JOTEBYA 10 15 15 10 50
3 (T /RU 12 6 12 6 36 2 |EHE> 20 20 40
4 |&EBFA 6 15 6 27 3 | T3B5vA 6 12 15 33
5 |zA=3z 7+ 15 10 25 4 |fERE M 20 8 28
6 |kei 10 10 20 5 [(&F>! 15 12 27
7 |IFP—A 8 8 16 6 |BEH= 20 20
8 |TRERLULU W 15 15 7 |Uzxo& 20 20
9 |HRXbL 12 12 8 |XBRl(ETEhFE) 8 12 20
10 [ZF-KEBX2 10 10 9 |BdDHBuL 15 15
11 [CLIUX 8 8 10 |BM &— 8 6 14
12 |[U3—X& 8 8 11 |BEHE =12 12 12
K-—CARISX 12 (= EFHE 12 12
Pos| I>MS5> b4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total 13 |miya 10 10
1 |2vD 15 20 20 20 75 14 |F U 10 10
2 |K 20 15 20 12 10 67 15 |DATz 10 10
3 |[FE 12 15 15 6 48 16 |FHHF1+ 8 8
4 [<FW 10 12 8 30 17 |EE=h&E 8 8
5 |~ 12 8 8 28 18 |AU— 8 8
6 |aqu 8 10 10 28 19 |feh@7RIR 8 8
7 |lz\WE 10 12 22 20 |EABPA 6 6
8 |depa 15 15 21 [IXAP= 6 6
9 |24 8 6 14
10 [IB&ER H— 6 6
11 |(FEFH 6 6
12 |LT 6 6




